
Key Concepts for 
A Level 
Chemistry

Introduction to Chemistry 
Calculations - Quiz 1

This resource may be downloaded for free at
https://www.chemistrytuition.net/chemistry-calculations



Calculate the Molar Mass of:

 Na2SO4 (2 x 23) + 32 + (4 x 16) = 142

KMnO4 39 + 55 + (4 x 16) = 158

Al2(SO4)3 (2 x 27) + (3 x 32) + (12 x 16) = 342

CuSO4.5H2O 63.5 + 32 + (4 x 16) + (5 x 18) = 249.5
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Calculate the number of moles of the material in: 

1.435 g of AgNO3 107.9 + 14 + (3 x 16) = 169.9

 13.76 g of NH4Cl 14 + 4 + 35.5 =  53.5

13.76 g of (NH4)2SO4 (2 x 18) + 32 + (4 x 16) = 132

Moles = 1.435/169.9 = 0.0084

Moles = 13.76/53.5 = 0.2572

Moles = 13.76/132 = 0.1042
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Calculation of the mass of material in:

0.10 moles of KClO3 39 + 35.5 + (3 x 16) = 122.5

2.4 moles of (COOH)2.2H2O 2 x (12 + 16 + 16 + 1) + (2 x 18) = 126

3.075 moles of MgSO4.7H2O 24.3 + 32 + (4 x 16) + (7 x 18) = 246.3

Mass = 0.10 x 122.5 = 12.3 g

Mass = 2.4 x 126 = 302.4 g

Mass = 3.075 x 246.3 = 757.4 g
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